6/30/23, 11:56 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023161/2083023161S30D11002/1686...

Q.1 A clock is set right at 5 a.m. The clock loss 16 min in 24 h. What time will be right time when the
clock indicate 10 p.m. on the 4th day ?

(1) 12:30 p.m.

(2) 12:00 p.m.

(3) 11:00 p.m.

(4) 11:15 p.m.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 21280710590
Option 1 ID : 21280742357
Option 2 ID : 21280742358
Option 3 ID : 21280742359
Option 4 ID : 21280742360

Status : Not Answered

Chosen Option : ==

Q.2  Who said “INC (Indian National Congress) should distinguish between begging and claiming the
Rights”.

(1)  Aurobindo Ghosh
(2) Bal Gangadhar Tilak
(3) Bipin Chandra Pal
(4) Lala Lajpat Rai
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 21280710568
Option 1 1D : 21280742269
Option 2 ID : 21280742270
Option 3 ID : 21280742271
Option 4 ID : 21280742272

Status : Not Answered
Chosen Option : --
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@3 Which number is in the square, ellipse and triangle ?
4
/\
6 10
1 5
9
2 7
3 11
1 7
(2) 6
3) 5
4 1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710581
Option 11D : 21280742321
Option 2 ID : 21280742322
Option 3 ID : 21280742323
Option 4 ID : 21280742324
Status : Answered
Chosen Option : 1
4 . .
@4 Atmospheric Pressure is measured by :
(1) Pedometer
(2) Thermometer
(3) Odometer
(4) Barometer
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710559
Option 11D : 21280742233
Option 2 ID : 21280742234
Option 3 ID : 21280742235
Option 4 ID : 21280742236
Status : Not Answered
Chosen Option : --
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Q5  Gtatements :

()  No tree is desktop
(I)  All desktops are computers
Conclusion :
()  Some desktops are tree
(I)  Some trees are computer
Which conclusion will follow on the basis of given statement ?
(1) Only I follow
(2) Only II follow
(3) Both I and II follows
(4) Neither I nor II follows
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710583
Option 11D : 21280742329
Option 2 ID : 21280742330
Option 3 ID : 21280742331
Option 4 ID : 21280742332
Status : Answered
Chosen Option : 4
Q6 ‘ ;
Find the wrong number of the series.
6400, 3200, 1600, 600, 400, 200, 100, 50
(1) 200
(2) 1600
(3) 100
(4) 600
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710579
Option 11D : 21280742313
Option 2 ID : 21280742314
Option 3 ID : 21280742315
Option 4 ID : 21280742316
Status : Answered
Chosen Option : 4
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Q.7  Degreewise break-up of expenditure of a family in a month is shown in the pie chart. Total amount
spent in a month is ¥ 45800.

< Investment
Commuting 540
79.2°
Entertainment
) 36°
Shopping Medicines
68.4° 39.6°
Groceries
828°
What is the amount spent by the family on commuting ?
(1) 10076
(2) T10354
(3) T6870
(4) 8702
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 21280710543
Option 1 ID : 21280742169
Option 2 ID : 21280742170
Option 3 ID : 21280742171
Option 4 ID : 21280742172

Status : Not Answered

Chosen Option : --

Q.8 A rectangular room can be partitioned into two equal square rooms by a 7 meter long partition.
What is the floor area of the rectangular room in m??

(1) 49
(2) 98
(3) 147
4) 19
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 21280710541
Option 1 ID : 21280742161
Option 2 ID : 21280742162
Option 3 ID : 21280742163
Option 4 ID : 21280742164

Status : Answered

Chosen Option : 2
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(A) AMDNOR
(B) RANDOM
(C) ADMNOR
(D) ANMDOR
() ANDMOR

Choose the most appropriate answer from the options given below :
M) (©. (&), (E) (B). (D)
@ (O, (A). (D), (E). (B)
3) Q) (A) (E) (D), (B)
#)  (©), (B), (A), (E). (D)

Q.9  Arrange the following group of letters arranged in the dictionary from first to last.

Chosen Option :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710595
Option 1 ID : 21280742377
Option 2 ID : 21280742378
Option 3 ID : 21280742379
Option 4 ID : 21280742380
Status : Answered
Chosen Option : 3
Q.10 A wholeseller sells a jacket to a retailer at a profit of 5% and the retailer sells it to a customer at a
profit of 10%. If the customer pays ¥ 4,158 for the jacket, then what was the cost price of the jacket
for the wholesaler ?
(1) 3,500
(2) 3,400
(3) 3,300
(4) 3,600
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710539
Option 1 1D : 21280742153
Option 2 ID : 21280742154
Option 3 ID : 21280742155
Option 4 ID : 21280742156
Status : Not Answered
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" Life span of ‘RBC’ is

Chosen Option :

(1) 48 Hours
(2) 24 Hours
(3) 12 Hours
(4) 120 days
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710560
Option 1 ID : 21280742237
Option 2 ID : 21280742238
Option 3 ID : 21280742239
Option 4 ID : 21280742240
Status : Not Answered
Chosen Option : --
Q.12 Ina family of 6 members, D is the only son of A, E is the grandfather of D. B is the daughter-in-law
of C. F is the uncle of D. C is wife of A. What is the relationship of B with D ?
(1)  Wife
(2) Sister
(3) Niece
(4) Aunt
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710588
Option 1 ID : 21280742349
Option 2 ID : 21280742350
Option 3 ID : 21280742351
Option 4 ID : 21280742352
Status : Answered

1
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Q.13 A sector as shown in the figure is assembled to form a cone. What is the base radius (in cm) of the
cone so formed ? [n=§)
9cm
&
1 o
(2) 5.25
(3) 6.75
(4) 45
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710549
Option 1 ID : 21280742193
Option 2 ID : 21280742194
Option 3 ID : 21280742195
Option 4 ID : 21280742196
Status : Not Answered
Chosen Option : --
Q.14  Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : Milk production in India is low as compared to many countries of the world.
Reason (R) : The animal rearers in India are poor
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710594
Option 1 ID : 21280742373
Option 2 ID : 21280742374
Option 3 ID : 21280742375
Option 4 ID : 21280742376
Status : Answered
Chosen Option : 4
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Q15 Which amongst the following is known as “Island of Pearls” ?

(1) Australia
(2) Zanjibar
(3) Bahrain
(4) Panama
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710566
Option 1 1D : 21280742261
Option 2 ID : 21280742262
Option 3 ID : 21280742263
Option 4 ID : 21280742264
Status : Not Answered
Chosen Option : --
Q.16  Crescograph, a device for measuring growth in plants was invented by which Indian Scientist ?
(1) Jagdish Chander Bose
(2) C.V.Raman
(3) Homi J. Bhabha
(4) Vikram Sarabhai
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710571
Option 1 1D : 21280742281
Option 2 ID : 21280742282
Option 3 ID : 21280742283
Option 4 ID : 21280742284
Status : Not Answered
Chosen Option : --
Q.17
The 10 term of the A.P.1,5,9, 13, ..., is
(1) 36
(2) 33
(3) 37
(4) 41
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710555
Option 1 ID : 21280742217
Option 2 ID : 21280742218
Option 3 ID : 21280742219
Option 4 ID : 21280742220
Status : Answered
Chosen Option : 3
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X

~J

X

M

®)

(%)

P

Q.18  Which among the following will continue the same series as established by the given figure.

X

Chosen Option :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710587
Option 1 ID : 21280742345
Option 2 ID : 21280742346
Option 3 ID : 21280742347
Option 4 ID : 21280742348
Status : Not Answered
Chosen Option : --
@19 If sin 26 = cos 40°, then the smallest positive value of 8 is :
(1) 25°
(2) 20°
(3) 40°
(4) 30°
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710547
Option 11D : 21280742185
Option 2 ID : 21280742186
Option 3 ID : 21280742187
Option 4 ID : 21280742188
Status : Answered

1
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(A)
(B)
©
(D)

(1)
2
®3)
(4)
Options 1. 1
2.2
3.3
4.4

Q20 ©\atch List - I with List - IL

List -1
(Writer)

Plato

Leo Tolstoy

Pt. Vishnu Sharma
Sri Aurobindo Ghosh
Choose the most appropriate answer from the options given below :

D
(I
(1)
(1V)

(A)-(IV), (B)-(II), (C)-(), (D)~(II)

(
(A
(

A)-(1D), (B)-(IV), (C)-(), (D)-(I1I)
)-(IV), (B)-(D), (O)-(II), (D)-(11)
A)-(L), (B)-(I), (O)-(LLD), (D)-(1V)

List - 1T

(Book)
Panchatantra
War and Peace
The Life Divine
Republic

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
21280710570
21280742277
21280742278
21280742279
21280742280
Not Answered

(1)
(2)
(3)
(4)

Options 1. 1
2.2
3.3
4.4

27
29
28
36

4*" If E=5, PEN=35 then PAGE="?

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
21280710585
21280742337
21280742338
21280742339
21280742340
Answered

2
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Q.22 Match List - I with List - II,

List - I List - IT

(States) (Boarding Countries)
(A) Punjab, Rajasthan, Gujarat ()  Bhutan
(B) Himachal Pradesh, Uttarakhand, () Pakistan

Sikkim, Arunachal Pradesh
(C) West Bengal, Mizoram, Meghalay, (M)  China

Tripura, Assam
(D) West Bengal, Sikkim, Arunachal Pradesh, (IV) Bangladesh

Assam
Choose the most appropriate answer from the options given below :
(1) (A1), (B)-(1V), (O)-(L), (D)-(I)
(2) (A1), (B)-(II), (C)-(1), (D)-(1V)
(3)  (A)-(II), (B)-(IT), (O)-(IV), (D)-()
(4)  (A)-(1D), (B)-(II), (O)-(IV), (D)-()
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 21280710563
Option 1 1D : 21280742249
Option 2 ID : 21280742250
Option 3 ID : 21280742251
Option 4 ID : 21280742252

Status : Not Answered

Chosen Option : --

Q.23  In which of the following Union Territories of India is the “National Meat and Polutry Processing
Board” located ?

(1) Chandigarh

(2) Puducherry

(3) Delhi

(4) Dadra and Nagar Haveli
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 21280710575
Option 1 1D : 21280742297
Option 2 ID : 21280742298
Option 3 ID : 21280742299
Option 4 ID : 21280742300

Status : Not Answered

Chosen Option : --
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#* “CNG” Stands for :
(1) Common Natural Gas
(2) Compressed Natural Gas
(3) Common Effective Natural Gas
(4) Compressed Neutral Gas

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710561
Option 1 ID : 21280742241
Option 2 ID : 21280742242
Option 3 ID : 21280742243
Option 4 ID : 21280742244
Status : Answered
Chosen Option : 2
Q.25 A dice is thrown twice. Find the probability of getting an odd number in the second throw and a
multiple of 3 in the first throw.
1
(COIY
1
@ 3
1
G 3
@ 3
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710544
Option 1 ID : 21280742173
Option 2 ID : 21280742174
Option 3 ID : 21280742175
Option 4 ID : 21280742176
Status : Not Answered
Chosen Option : --
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Q.26
Find the value of Js W T —
() 3
(2) 2
3) 6
4) /8
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710553
Option 1 ID : 21280742209
Option 2 ID : 21280742210
Option 3 ID : 21280742211
Option 4 ID : 21280742212
Status : Not Answered
Chosen Option : --
Q.27 Two men P and Q start together from place A at 3 km/h and 3.75 km/h respectively for place B.
Q reaches half an hour before P. What is the distance that each one has covered ?
(1) 7km
(2) 72 km
(3) 75km
(4) 7.8 km
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710551
Option 1 1D : 21280742201
Option 2 ID : 21280742202
Option 3 ID : 21280742203
Option 4 ID : 21280742204
Status : Not Answered
Chosen Option : --
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Q.28  The curved surface area of a right circular cylinder of height 14 cm is 88 cm?. The diameter of the

22
base of the cylinder is (Use i =7] 3

(1) 2em
(2) 4cm
(3) 5cm
(4) 05cm
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710548
Option 1 1D : 21280742189
Option 2 ID : 21280742190
Option 3 ID : 21280742191
Option 4 ID : 21280742192
Status : Not Answered
Chosen Option : --
Q.29 Starting from point P, Sunil walked 30 m towards South. He turned to his left and walked 40 m.
Then, he again turned to his left and walked 30 m. Turning again to his left he walks 15 m and
stops there at point N. How far is Sunil from starting point P ?
(1) 30m
(2) 15m
(3) 25m
(4) 10m
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710576
Option 1 ID : 21280742301
Option 2 ID : 21280742302
Option 3 ID : 21280742303
Option 4 ID : 21280742304
Status : Answered
Chosen Option : 3
Q.30 . .
Find the odd pair out ?
(1) 11:125
(2) 33:1093
(3) 35 :1229
(4) 17:295
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710578
Option 1 1D : 21280742309
Option 2 ID : 21280742310
Option 3 ID : 21280742311
Option 4 ID : 21280742312
Status : Answered
Chosen Option : 4
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Q.31  Match List - I with List - IT.
List - 1 List - II
(Animals) (Natural Habitat)
(A) Elephants Sunderban National park
(B) Camel Gir Forest National park
(C) Indian Lion Thar Desert
(D) Tiger The Hot Wet forest of Assam and Kerala
Choose the most appropriate answer from the options given below :
(D (A)-1V), (B)-(1D, (C)-), (D)-0)
(2)  (A)-(1I), (B)-(IV), (C)-), (D)-(T)
(3)  (A)-AV), (B)-(1D), (O)-(1), (D)-(ID)
4)  (A)-(1I), (B)-(III), (C)-(IV), (D)-(T)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710562
Option 11D : 21280742245
Option 2 ID : 21280742246
Option 3 ID : 21280742247
Option 4 ID : 21280742248
Status : Not Answered
Chosen Option : --
Q32 is called the father of Indian Archaeology.
(1) James Princip
(2) John Marshell
(3) Alexender Cunninghum
(4) Mortimer Wheeler
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710567
Option 1 ID : 21280742265
Option 2 ID : 21280742266
Option 3 ID : 21280742267
Option 4 ID : 21280742268
Status : Not Answered
Chosen Option : --
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Q.33  Which of the following article of Constitution of India is related to the Finance Commission ?
(1) Article 21A
(2) Article 280
(3) Article 324
(4) Article 124

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710573
Option 1 ID : 21280742289
Option 2 ID : 21280742290
Option 3 ID : 21280742291
Option 4 ID : 21280742292
Status : Answered
Chosen Option : 1
Q.34 Theaverage weight of A, B and C is 60 kg. If the average weight of B and C is 50 kg and that of A
and B is 52 kg, then what is the weight of B ?
(1) 26kg
(2) 24kg
(3) 30kg
(4) 32kg
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710545
Option 1 ID : 21280742177
Option 2 ID : 21280742178
Option 3 ID : 21280742179
Option 4 ID : 21280742180
Status : Answered
Chosen Option : 2
@35 Which Union Territory of India is the smallest as per its area ?
(area wise smallest UT)
(1) Lakshadweep
(2) Puducherry
(3) Chandigarh
(4) Delhi
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710574
Option 1 ID : 21280742293
Option 2 ID : 21280742294
Option 3 ID : 21280742295
Option 4 ID : 21280742296
Status : Not Answered
Chosen Option : --
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@36  Who won the T20 Cricket World Cup-2022 held in Australia ?
(1) Australia
(2) England
(3) India
(4) Pakistan
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710556
Option 11D : 21280742221
Option 2 ID : 21280742222
Option 3 ID : 21280742223
Option 4 ID : 21280742224
Status : Not Answered
Chosen Option : --
Q.37  Study the following arrangement carefully and answer the question given below.
MDEK7BI4MJNE76ZUVWI3H4F
How many such numbers are there in the above sequence each of which is immediately preceded
by a consonant and immediately followed by a vowels ?
(1) Zero
(2) One
(3) Two
(4) Three
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710592
Option 1 1D : 21280742365
Option 2 ID : 21280742366
Option 3 ID : 21280742367
Option 4 ID : 21280742368
Status : Answered
Chosen Option : 3
Q.38 . . .
Keoladeo Bird Sanctuary is located in ;
(1) Rajasthan
(2) Delhi
(3) Haryana
(4) Punjab
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710564
Option 1 ID : 21280742253
Option 2 ID : 21280742254
Option 3 ID : 21280742255
Option 4 ID : 21280742256
Status : Not Answered
Chosen Option : --
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Q39 How many times Mithali Raj played in ICC Women’s Cricket World Cup ?

1 4
2 3
@ 5
(4) o
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710557
Option 11D : 21280742225
Option 2 ID : 21280742226
Option 3 ID : 21280742227
Option 4 ID : 21280742228
Status : Not Answered
Chosen Option : --
Q.40 A certain weight (in kg) is divided into two parts such that 5 times the first part added to
11 times the second part makes 7 times the whole weight. The ratio of the first part to the second
partis:
() 1:2
(2) 5:11
3 2:
4 2:3
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710546
Option 11D : 21280742181
Option 2 ID : 21280742182
Option 3 ID : 21280742183
Option 4 ID : 21280742184
Status : Answered
Chosen Option : 3
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@41 Find the missing figure from the given options.
® ++ [++ O + @
O O 9] ®
O ] o o
++ O] @ + ]
(A) (B) © (D)
O +
1y | @
&
4 o
& +
2 | ©®
®
+ ®
& +
G | ®
o
o]
i +
&
(4) o
+ @)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710586
Option 1 ID : 21280742341
Option 2 ID : 21280742342
Option 3 ID : 21280742343
Option 4 ID : 21280742344
Status : Answered
Chosen Option : 4
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Q.42  Study the following arrangement carefully and answer the question given below:
RDAK7BI3AMJENG67UZVIW3H4FY8P6

How many such numbers are there in the above sequence each of which is immediately preceded
by a consonant and immediately followed by a vowel ?

(1) Zero
(2) One
(3) Two
(4) Three
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710584
Option 1 1D : 21280742333
Option 2 ID : 21280742334
Option 3 ID : 21280742335
Option 4 ID : 21280742336
Status : Answered
Chosen Option : 2
Q43 An equation of the type y=kx (k # 0) represents a line :
(1) passing through the origin
(2) intersecting the coordinate axes at two different points
(3) parallel to x-axis
(4) parallel to y-axis
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710542
Option 1 1D : 21280742165
Option 2 ID : 21280742166
Option 3 ID : 21280742167
Option 4 ID : 21280742168
Status : Answered
Chosen Option : 1
Q.44  Nine boys can complete a work in 360 days, 18 men can complete the same work in 72 days and 12
women can complete it in 162 days. In how many days, can 4 men, 12 women and 10 boys
together, complete the work ?
L 79
(2) 81
(3) 83
(4) 85
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710550
Option 1 ID : 21280742197
Option 2 ID : 21280742198
Option 3 ID : 21280742199
Option 4 ID : 21280742200
Status : Not Answered
Chosen Option : --
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Q45 In which city of Punjab, railway coaches are manufactured ?

(1) Ludhiana
(2) Patiala
(3) Kapurthala
(4) Bhatinda
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710565
Option 1 ID : 21280742257
Option 2 ID : 21280742258
Option 3 ID : 21280742259
Option 4 ID : 21280742260
Status : Not Answered
Chosen Option : --
Q.46 . A
From the figure, find x.
J
&
&
& B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710554
Option 1 ID : 21280742213
Option 2 ID : 21280742214
Option 3 ID : 21280742215
Option 4 ID : 21280742216
Status : Answered
Chosen Option : 2
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Q47 Match List - I with List - IL
List -1
(Programme)
(A) Vande Matram Scheme
(B) Swajal Dhara Yojana
(C) Bharat Nirman Yojana
(D) Janshree Bima Yojana
Choose the most appropriate answer
(1) (A1), B)-(IID), ©-(V), (D)-()
(@) (AND), B)-(I), (O, (D)-(V)
(3)  (AXD, (B-(ID), (Q-IV), (D)-()
(4)  (A)-IV), (B)-(D), (C)-(11), (D)-()
Options 1. 1
2.2

3.3
4.4

List - II
(Year of Beginning)
(I 2000
Iy 2005
() 2002
(IV) 2004

from the options given below :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option : --

McQ
21280710569
21280742273
21280742274
21280742275
21280742276
Not Answered

** Find the missing term in given series ?
1
13— ?
4,6,9, 197, :
3
22—
(1 22,
1
20—
(2 20,
(3) 19
1
17—
(4) 175
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option : --

McQ
21280710580
21280742317
21280742318
21280742319
21280742320
Not Answered
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% Today is Monday. After 60 days it will be ?
(1) Thursday
(2) Tuesday
(3) Friday
(4) Wednesday

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710589
Option 1 ID : 21280742353
Option 2 ID : 21280742354
Option 3 ID : 21280742355
Option 4 ID : 21280742356
Status : Answered
Chosen Option : 4
@50 The ascending order of the numbers 0.8, 0.88, 0.808, 0.08 is
(1) 0.88, 0.808, 0.8, 0.08
(2) 0.808, 0.8, 0.08, 0.88
(3) 0.08, 0.8, 0.88, 0.808
(4) 0.08, 0.8, 0.808, 0.88
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710552
Option 1 1D : 21280742205
Option 2 ID : 21280742206
Option 3 ID : 21280742207
Option 4 ID : 21280742208
Status : Answered
Chosen Option : 4
Q.51 A, Band C started a business by investing ¥ 40,000, ¥ 50,000 and 2 60,000 respectively. After
8 months B withdrew ¥ 10,000. After one more month C withdrew ¥ 40,000. Find the ratio in
which profit earned at the end of the year will be distributed.
(1) 4:5:6
(2 23231
(3) 12:14:15
(4) 10:12:13
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710538
Option 1 ID : 21280742149
Option 2 ID : 21280742150
Option 3 ID : 21280742151
Option 4 ID : 21280742152
Status : Not Answered
Chosen Option : --
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Q.52 Which country has launched the world’s first commercial moon lander ?

(1) Japan
(2) Russia
(3) India
(4) US.A.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710558
Option 1 ID : 21280742229
Option 2 ID : 21280742230
Option 3 ID : 21280742231
Option 4 ID : 21280742232
Status : Not Answered
Chosen Option : --
Q.53 Which Indian Meteorological satellite has renamed as Kalpana-1 in 2003 ?
(1) INSAT-3A
(2) METSAT
(3) INSAT-3C
(4) GSAT-2
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710572
Option 1 1D : 21280742285
Option 2 ID : 21280742286
Option 3 ID : 21280742287
Option 4 ID : 21280742288
Status : Not Answered
Chosen Option : --
Q.54 \fohan is 14% from the left end in a row of 40 boys. What is his position from the right end ?
(1) 21th
(2) 24t
(3) 275t
(4) 25th
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710577
Option 1 1D : 21280742305
Option 2 ID : 21280742306
Option 3 ID : 21280742307
Option 4 ID : 21280742308
Status : Answered
Chosen Option : 3
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Q.55
2a° — 3b° _ 2
If = ,thena:b =
aZ + b2 41
(1) 5:4
(2) 25:16
(3) 16:25
(4) 4:5
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710537
Option 11D : 21280742145
Option 2 ID : 21280742146
Option 3 ID : 21280742147
Option 4 ID : 21280742148
Status : Answered
Chosen Option : 1
Q.56 Statement : European economy is dependent mainly on forests.
Conclusions :
(I)  Europe wants only maintainance of forests to improve economic conditions.
(II)  Trees should be preserved to improve the Europe economy.
Which conclusion will follow on the basis of given statement ?
(1)  Only Conclusion I follow
(2) Only Conclusion II follow
(3) Both Conclusion I and II follows
(4) Either Conclusion I and II follows
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710582
Option 1 1D : 21280742325
Option 2 ID : 21280742326
Option 3 ID : 21280742327
Option 4 ID : 21280742328
Status : Not Answered
Chosen Option : --
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Q.57 The sum of the fourth proportional of 4, 5, 16 and the mean proportional of 4, 16, is

(1) 25
(2) 28
(3) 30
(4) 32
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710536
Option 1 1D : 21280742141
Option 2 ID : 21280742142
Option 3 ID : 21280742143
Option 4 ID : 21280742144
Status : Not Answered
Chosen Option : --
Q.58 . .
Complete the figure matrix :
s
(1)
2
(3)
(4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710593
Option 1 1D : 21280742369
Option 2 ID : 21280742370
Option 3 ID : 21280742371
Option 4 ID : 21280742372
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083023161/2083023161S30D11002/16866462885039...

98/99



6/30/23, 11:56 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023161/2083023161S30D11002/1686...

Chosen Option :

59 3 o .
Q%9 Find the missing term in 1, 4, 10, 22, 46, ?
(1) 100
(2) 98
(3) 96
(4) 94
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710591
Option 1 ID : 21280742361
Option 2 ID : 21280742362
Option 3 ID : 21280742363
Option 4 ID : 21280742364
Status : Answered
Chosen Option : 4
Q.60 On compound interest, ¥ 2,000 amounts to ¥2,226.05 in 2 years. What is the rate of interest per
annum ?
(1 5%
(2) 5.5%
(3) 6%
4) 6.5%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 21280710540
Option 1 ID : 21280742157
Option 2 ID : 21280742158
Option 3 ID : 21280742159
Option 4 ID : 21280742160
Status : Not Answered
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